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A #YRAHH|(36ATLH)
S9l: elnE ) (Sl &8
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
|| Ocovamz g=3 9,100,002 9,100
Jl=3H| 129,420 122,180 7,240
Jl=23H] 129,420 122,180 7,240
201 er23y| 51,020 51,020 0
01 AtR2t2|HI 47,520 47,520 0
FN2HII2EH 47,520
— eS| 40,0003 x44F 128 21,120
—=¢| 50,0003 x44EH 12 26,400
2 52434l 3,500 3,500 0
OoR#ERs 3,500,000& 3,500
202 04dl 69,660 63,360 6,300
01 =LHNHI 69,660 63,360 6,300
OgRFa|=0H|
120,000 x44H =122 63,360
O3 =4 2433 U= 0l
180,000 +35& 6,300
203 HR=H| 7,740 7,800 260
M EAEgER=A 7,740 7,800 260
ORNEgE =AY
(400,0002445, 0002 x4959 )+ 12 7,740
405 AtatsE = 1,000 0 1,000
01 TR ESFSHI 1,000 0 1,000
OAted d&80 1,000,000 1,000
HWRES (3662 EH) 4,649,670 4,361,690 287,980
WA XIE 4,649,670 4,361,690 287,980
Het2epDlsdEs 4,644,397 4,356,417 287,980
mRISHES 4,644,397 4,356,417 287,980
0 JIsdEsS 4,644,397 4,356,417 287,980
Old2ells d&s
464,439,682, 950 * 1% 4,644,397
= SEHNES 5,273 5,273
701 JIEHRIHSEES 5,273 5,273
2 BINESEIHBNEES 5,273 5,273
OS82 d&E= 5,273
—ASEI AL (SE) 7R3 L3
H =E€3 5,273
- HI=ZED1(75mm) 16,2703 201 A+ 12 391
- A1 21 (100mm) 27,1203 x1504 2=+ 123 4,882






